Arithmetic Series

[ Exercise 12E Exam Practice

1

The third and fifth terms of an arithmetic series are 3 and 5
respectively.

a Find the first term and common difference the of the series.

b Find the sum of the first 50 terms of the series.

Natasha decides to go swimming on three evenings each week.

In the first week she swims 8 lengths on each visit to the pool.
In each subsequent week she increases by two the number of lengths
that she swims on each of her visits to the pool during that week.

a Show that in the first three weeks she swims 90 lengths in total.

b In the nth week of her visits the total number of lengths that she
has completed passes 2000. Find the value of n.

a The sixth term of an arithmetic series is 38.

Given that the common difference of the series is %, find
expressions in terms of & for

i the first term of the series,
ii the sum of the first 20 terms of the series.

18
b Evaluate Z (16-3r).

r=1
The first three terms of an arithmetic series are (4x—5), 3x and
(x + 13) respectively.
a Find the value of x.

b Given that the sum of the first # terms of the series is 126, find
the two possible values of . ’

The sum of the first four terms of an arithmetic series is 96.
The sum of the fifth, sixth and seventh terms of the series is 219.
a Find the first term and common difference of the series.

b Find and simplify an expression in terms of # for the sum of
the first » terms of the series. :

32
a Evaluate Z Tr—11.

r=8
b The rth term of an arithmetic series is given by (37 + 5).
Given that the sum of the first z terms is 665, find the value of 7.
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